
1 
 

BSEH MARKING SCHEME 

CLASS- X   SCIENCE (March-2024)  Code: A 

 अंक-योजना मɅ Ǒदए गए उƣर-ǒबÛद ुअǓंतम नहȣ ंहɇ। ये सुझावा×मक एवं 

सांकेǓतक हɇ। यǑद परȣ¢ाथȸ न ेइनसे ͧभÛन, ͩकÛत ुउपयुÈत उƣर Ǒदए हɇ, 

तो उसे उपयुÈत अकं Ǒदए जाएँ। 

 The answer points given in the marking scheme are not 

final. These are suggestive and indicative. If the examinee 

has given different, but appropriate answers, then he should 

be given appropriate marks. 

Q. 

No. 

  Answers Marks 

1. b) मोǓतयाǒबदं 

Cataract 

 

1 

2. d) सभी ǒबदंओु ंपर समान होता है  

is the same at all points 

 

1 

3. ͩकलोवाट घंटा (kW h) 

kilowatt hour (kW h) 

 

1 

4. 

 

 

1 

5. d) A अस×य है परंतु R स×य है। 

A is false but R is true. 

 

1 

6. (i) चालक कȧ लंबाई  

(ii) चालक के अनĤुèथ काट के ¢ेğफल  

(iii) पदाथ[ कȧ ĤकृǓत पर 
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(कोई दो; Ĥ×येक का 1 अकं) 

(i) the length of the wire 

(ii) the area of the transverse cut (cross section) of 

the conductor,  

(iii) the nature of the substance. 

(any two, 1 mark each) 

 

Or 

(a) पाæव[Đम मɅ संयोिजत सभी उपकरण वोãटेज के ͪवभÈत 

नहȣं होने के कारण सुचाǾ Ǿप स ेकाय[ करत ेहɇ। 

(b) पाæव[Đम मɅ संयोिजत उपकरणɉ मɅ से ͩकसी एक के खराब 

होने कȧ िèथǓत मɅ भी अÛय उपकरण कुशलता से काय[ करत े

रहते हɇ। 

(c) पाæव[Đम मɅ संयोिजत सभी उपकरणɉ के ͧलए अलग अलग 

िèवच लगाया जा सकता है ताͩक आवæयकतानुसार ͩकसी को 

भी ऑन या ऑफ ͩकया जा सके। 

(d) ͪवɮयुत पǐरपथ का कुल तुãय ĤǓतरोध पाæव[Đम संयोिजत 

सभी उपकरणɉ के ĤǓतरोध के योग से कम होता है, अत: ͪ वɮयतु 

उपकरणɉ को पाæव[Đम मɅ संयोिजत करने पर ǒबजलȣ कȧ खपत 

कम हो जाती है। 

(कोई दो; Ĥ×येक का 1 अकं) 

(a) Potential difference does not divide among the 

appliances; thus all electric appliances get equal 

voltage and work better. 

 

2 
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(b) The other devices continue to work efficiently 

even in the event of a malfunction of one of the 

devices connected in the parallel order. 

(c) Separate switch can be attached with each of the 

electrical appliances so that anyone can be switched 

off as per requirement keeping other operating. 

(d) The total effective resistance of the circuit 

becomes lower than the resistance of appliances. 

(Any two, 1 mark each) 

7. यहाँ Ǒदया गया है f=−4m 

लɅस कȧ ¢मता, P=1/f 

(1 अकं) 

∴P=1/4m=−0.25D 

(उतर का ½ अंक, ईकाई का ½ अंक) 

Given, focal length (f) = 4m 

We know that power of a lens (P) = 1/f 

(1 mark) 

Or, P = 1/4m = 0.25 Dioptre        

(½ mark for answer, ½ mark for unit)  

 

 

 

 

 

 

2 

8. (i) ǒबबं सदैव दप[ण के बाइɍ ओर रखा जाता है। इसका अथ[ है 

ͩक दप[ण पर ǒबबं स ेĤकाश बाइɍ ओर से आपǓतत होता है।  

(ii) मÉुय अ¢ के समांतर सभी दǐूरयाँ दप[ण के Ģुव से मापी 

जाती हɇ।  

(iii) मूल ǒबदं ु के दाइɍ ओर (+ x-अ¢ के अनुǑदश) मापी गई 

सभी दǐूरया ँधना×मक मानी जाती हɇ।   
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(iv) जबͩक मूल ǒबदं ुके बाइɍ ओर (– x-अ¢ के अनुǑदश) मापी 

गई दǐूरयाँ ऋणा×मक मानी जाती हɇ।  

(v) मÉुय अ¢ के लंबवत तथा ऊपर कȧ ओर (+ y-अ¢ के 

अनुǑदश) मापी जान ेवालȣ दǐूरया ँधना×मक मानी जाती हɇ।  

(vi) मÉुय अ¢ के लंबवत तथा नीचे कȧ ओर (– y-अ¢ के 

अनुǑदश) मापी जान ेवालȣ दǐूरया ँऋणा×मक मानी जाती हɇ। 

 (Ĥ×येक का ½ अकं) 

(i) The object is always placed to the left of the 

mirror. This implies that the light from the object falls 

on the mirror from the left-hand side.  

(ii) All distances parallel to the principal axis are 

measured from the pole of the mirror.  

(iii) All the distances measured to the right of the 

origin (along + x-axis) are taken as positive. 

(iv) All the distances measured to the measured to 

the left of the origin (along – x-axis) are taken as 

negative.  

(v) Distances measured perpendicular to and above 

the principal axis (along + y-axis) are taken as 

positive.  

(vi) Distances measured perpendicular to and below 

the principal axis (along –y-axis) are taken as 

negative. 

  (½ marks each) 
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9.  

 

 
 

(उͬचत आरेख - 1 अकं) (कोई चार नामाकंन; Ĥ×येक का ½ 

अंक) 

 

 
 

(Proper diagram 1 mark) (Any four labelling ½ 

marks each) 
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10. (i) दͯ¢ण हèत अगंुçठ Ǔनयम 

(1 अकं) 

दͯ¢ण – हèत अंगçुठ Ǔनयम कहता है ͩक यǑद कोई अपने 

दाǑहने हाथ मɅ ͪवɮयतु धारावाहȣ चालक को इस Ĥकार पकड़े ͩक 

अंगूठा ͪवɮयुत धारा कȧ Ǒदशा कȧ ओर संकेत करता है, तो 
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उँगͧलयाँ चालक के चारɉ ओर चàुबकȧय ¢ेğ कȧ ¢ेğ रेखाओं कȧ 

Ǒदशा मɅ ͧलपटȣ हɉगी। 

(1½ अकं) 

(ii) Ýलेͧमगं का वामहèत Ǔनयम 

(1 अकं) 

जब बायɅ हाथ कȧ तज[नी, मÚयमा तथा अँगूठे को इस Ĥकार 

फैलाया जाता है ͩक तीनɉ एक दसूरे के लàबबत हɉ, तब यǑद 

तज[नी चàुबकȧय ¢ेğ कȧ Ǒदशा और मÚयमा चालक मɅ ĤवाǑहत 

ͪवɮयुत धारा कȧ ओर संकेत करती है तो अँगूठा चालक कȧ गǓत 

कȧ Ǒदशा अथवा चालक पर आरोͪपत बल कȧ Ǒदशा कȧ ओर 

संकेत करेगा। 

(1½ अकं) 

(i) Right hand thumb rule  

(1 mark) 

which states that that if one holds a straight current 

carrying conductor with right hand such that the 

thumb points towards the direction of current, then 

fingers will wrap around the conductor in the direction 

of field lines of the magnetic field. 

(1½ mark) 

(ii) Fleming's Left Hand Rule,  

(1 mark) 

 

which states that if the first finger points in the 

direction of magnetic field and second finger in the 
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direction of current, then the thumb will point in the 

direction of motion or the force acting on the 

conductor. 

(1½ mark) 

Or  

धारा ले जाने वाले वƣृाकार लूप के Ĥ×येक ǒबदं ुपर इसके चारɉ 

ओर चुंबकȧय ¢ेğ का ĤǓतǓनͬध×व करन ेवाले सकंɅ Ǒġत वƣृ बड़ े

और बड़ ेहो जात ेहɇ Èयɉͩक हम तार स ेदरू चले जाते हɇ।  

(1 अकं) 

लूप के कɅ ġ मɅ ¢ेğ सीधी रेखा के Ǿप मɅ Ǒदखाई देता है। 

(1 अकं) 

 
(1 अकं) 

यǑद n मोड़ वाला एक वƣृाकार कंुडल है, तो उ×पाǑदत ¢ेğ एकल 

मोड़ ɮवारा उ×पाǑदत ¢ेğ से n गुना बड़ा होता है।  

 

ऐसा इसͧलए होता है Èयɉͩक Ĥ×येक वƣृाकार मोड़ मɅ धारा कȧ 

Ǒदशा समान होती है।  

(1 अकं) 

 

और मोड़ के कारण उ×पाǑदत ¢ेğ बढ़ता जाता है। 
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(1 अकं) 

 

At every point of the current carrying circular loop 

the concentric circles representing the magnetic field 

around it become larger and larger as we move away 

from the wire.  

(1 mark) 

At the centre of the loop the field appears as 

straight line 

(1 mark) 

 

 
(1 mark) 

If there is a circular coil having n turns, the field 

produced is n times as large as that produced by a 

single turn.  

It happens because the current in each circular turn 

has same direction.  

(1 mark) 

and the field due to turn just adds up. 

(1 mark) 
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11. b) ǒबना बुझा हुआ चूना  

Quick lime 

1 

12. c) अव¢ेपण 

Precipitation 

1 

13. टाट[ǐरक अàल 

Tartaric acid 

1 

14. चाँदȣ 

Silver 

1 

15. a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 

Both A and R are true, and R is the correct 

explanation of A. 

1 

16. जब हर त×व के परमाणओुं कȧ संÉया तीर कȧ बाɃ ओर तथा 

दाɃ ओर समान होती है तो समीकरण को संतुͧलत समीकरण 

कहा जाता है।  

(1 अकं) 

एक संतुͧलत समीकरण ġåयमान के संर¢ण के Ǔनयम का 

पालन करता है। 

(1 अकं) 

A reaction where atoms of each elements present on 

left- and right-hand side are equal is called as 

balanced chemical equation.  

(1 mark) 

To satisfy the law of conservation of mass, the 

chemical reaction should be balanced. 

(1 mark) 

 

 

 

 

 

2 
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17. इçटतम ĤÏवलन तापमान  

(1 अकं) 

उÍच ऊçमीय मान  

(1 अकं) 

optimum ignition temperature  

(1 mark) 

high calorific value.  

(1 mark) 

 

 

 

 

 

 

2 

18. धातु के साथ अàल कȧ ĤǓतͩĐया अàल कȧ ताकत पर Ǔनभ[र 

करती है।  

(1 अकं) 

हाइĜोÈलोǐरक अàल के Ǿप मɅ एक मजबतू अàल है  

(½ अकं) 

 

यह धात ुके साथ जोरदार ĤǓतͩĐया देगा और बुदबुदाहट के 

साथ हाइĜोजन गैस उ×पÛन करेगा।  

(½ अकं) 

 

जबͩक ऐͧसǑटक अàल एक बहुत कमजोर अàल है। 

(½ अकं) 

धातु के साथ ĤǓतͩĐया करन ेमɅ समय लगेगा और धीरे-धीरे 

हाइĜोजन गैस देगा।  

(½ अकं) 

The reaction of the acid with the metal depends on 

the strength of the acid.  

3 
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(1 mark) 

As hydrochloric acid is a strong acid.  

(½ mark) 

it will give reaction with metal vigorously and evolve 

hydrogen gas with fizzing sound,  

(½ mark) 

while acetic acid is a very weak acid 

(½ mark) 

it will take time to react with the metal and slowly 

give hydrogen gas.  

(½ mark) 

19. (i) 

 
(1 अकं) 

(ii) 

 
(1 अकं) 

(iii) 

3 
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(1 अकं) 

Or 

(i) Ħोमोएथने Bromoethane 

(1 अकं) 

(ii) Ĥोपेनोन Propanone 

(1 अकं) 

(iii) एथेनैल Ethanal  

(1 अकं) 

20. जब धातुओं को वायुमंडल के संपक[  मɅ रखा जाता है तो वायुमंडल 

मɅ उपिèथत गैसɉ तथा नमी कȧ उपिèथǓत से धातु धीरे-धीरे 

नçट होने लगती है। इस ĤͩĐया को सं¢ारण कहत ेहɇ। 

(1 अकं) 

उदाहरण: लोहे पर जगं लगना, चांदȣ का काला पड़ना, तांब ेकȧ 

सतह पर हरे रंग कȧ परत का बनना 

(कोई दो, Ĥ×येक का 1 अकं) 

स¢ंारण से सुर¢ा पɅट करके, तेल लगाकर, Ēीज़ लगाकर, 

यशदलेपन (लोहे कȧ वèतओुं पर जèत े कȧ परत चढ़ाकर), 

Đोͧमयम लेपन, ऐनोडीकरण, ͧमĮधातु बनाकर कȧ जा सकती 

है। 
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(कोई चार, Ĥ×येक का ½ अकं) 

When metals are kept in contact with the 

atmosphere, the metal gradually starts to damage 

due to the presence of gases and moisture present 

in the atmosphere. This process is called corrosion.  

(1 mark) 

example: Corrosion on iron, Silver blackening, 

Formation of a green layer on the surface of copper 

(Any two, 1 mark each) 

Corrosion  can be prevented by painting, applying 

oil, grease, Galvanization (by coating iron objects with 

zinc), chromium coating, anodization, alloying.  

(Any four, ½ mark each) 

Or 

धात ुसे अधात ुमɅ इलेÈĚॉन के èथानातंरण से बन ेयौͬगकɉ को 

वɮैयुत संयोजक यौͬगक कहा जाता है। 

 (1 अंक) 

(i) भौǓतक ĤकृǓत— धन एव ं ऋण आयनɉ के बीच मजबतू 

आकष[ण बल के कारण आयǓनक यौͬगक ठोस एवं थोड़ ेकठोर 

होते हɇ। ये यौͬगक सामाÛयतः भगुरं होते हɇ तथा दाब डालने पर 

टुकड़ɉ मɅ टूट जाते हɇ।  

(ii) गलनाकं एवं Èवथनांक — आयǓनक यौͬगकɉ का गलनांक 

एव ं Èवथनाकं बहुत अͬधक होता है, Èयɉͩक मजबतू अंतर-
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आयǓनक आकष[ण को तोड़न ेके ͧलए ऊजा[ कȧ पया[Ü त माğा कȧ 

आवæयकता होती है।  

(iii) घलनुशीलता— वɮैयुत संयोजक यौͬगक सामाÛयतः जल मɅ 

घलनुशील तथा ͩ करोͧसन, पĚेोल आǑद जैस ेͪ वलायकɉ मɅ अͪवलेय 

होते हɇ।  

(iv) ͪवɮयतु चालकता— ͩकसी ͪवलयन स ेͪवɮयुत के चालन के 

ͧलए आवेͧ शत कणɉ कȧ गǓतशीलता आवæयक होती है। आयǓनक 

यौͬगकɉ के जलȣय ͪवलयन मɅ आयन उपिèथत होते हɇ। जब 

ͪवलयन मɅ ͪवɮयतु धारा ĤवाǑहत कȧ जाती है तो यह आयन 

ͪवपरȣत इलÈैĚोड कȧ ओर गमन करने लगते है एव ंͪवɮयुत का 

चालन करते हɇ। 

(Ĥ×येक का 1 अकं) 

The compounds formed by the transfer of electrons 

from a metal to a non-metal are known an 

electrovalent compounds. 

(1 mark) 

(i) Physical nature: Ionic compounds are solids and 

are somewhat hard because of the strong force of 

attraction between the positive and negative ions. 

These compounds are generally brittle and break into 

pieces when pressure is applied.  

(ii) Melting and Boiling points: Ionic compounds have 

high melting and boiling points. This is because a 



BSEH Marking Scheme Class: X March-2024 
 

15 
Science   Code: A 
 

considerable amount of energy is required to break 

the strong inter-ionic attraction.  

(iii) Solubility: Electrovalent compounds are generally 

soluble in water and insoluble in solvents such as 

kerosene, petrol, etc.  

(iv) Conduction of Electricity: The conduction of 

electricity through a solution involves the movement 

of charged particles. A solution of an ionic compound 

in water contains ions, which move to the opposite 

electrodes when electricity is passed through the 

solution and conduct electricity.  

(1 Mark each) 

21. c) कोͧशका ġå य  

Cytoplasm 
1 

22. a) एिÞसͧसक अàल 

 Abscisic Acid 
1 

23. तीन  

Three 
1 

24. खाɮय Įृखंला मɅ एक अवèथा स ेदसूरȣ अवèथा मɅ Ĥवेश करत े

हुए रसायनɉ कȧ साÛġता मɅ वɮृͬध को जैͪ वक आवध[न कहते 

है।   

1 
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 Biological magnification is the increase in the 

concentration of chemicals in the food chain from 

one level to another.   

25. a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है।  

 

Both A and R are true, and R is the correct 

explanation of A. 

1 

26. संतान मɅ पǽुष और मǑहला माता-ͪपता का समान आनुवंͧ शक 

योगदान Ĥ×येक माता-ͪपता से गुणसूğ कȧ समान ͪवरासत ɮवारा 

सǓुनिæचत ͩकया जाता है।  

(½ mark) 

मानव मɅ गुणसूğɉ के 23 जोड़ ेहोते हɇ, िजनमɅ स े22 जोड़ ेअͧलगं 

होत ेहɇ और 1 जोड़ी ͧलगं गुणसğू होत ेहɇ।  

(½ mark) 

यÊुमक गठन अध[सğूीͪवभाजन कȧ ĤͩĐया के दौरान यह 

सǓुनिæचत करता है ͩक अगुͨ णत यÊुमक का उ×पादन होता है।.  

(½ mark) 

एक अगुͨ णत शĐुाण ुएक ɮͪवगुͨ णत यÊुमनज का उ×पादन करने 

के ͧलए एक अगुͨ णत ͫडबं के साथ सलंयन करता है। यÊुमनज 

Ĥ×येक माता-ͪपता से समान माğा मɅ आनुवंͧ शक सामĒी ĤाÜत 

करता है और इस Ĥकार, Ǔनषेचन पर ɮͪवगुͨ णत ĤकृǓत को 

बरकरार रखता है। 

(½ mark) 

2 
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Equal genetic contribution of male and female 

parents in the progeny is ensured by the equal 

inheritance of chromosome from each parent.  

(½ mark) 

Human possesses 23 pairs of chromosomes, of 

which 22 pairs are autosomes and 1 pair is the sex 

chromosomes.  

(½ mark) 

During the process of gamete formation meiosis 

ensure haploid gametes are produced.  

(½ mark) 

A haploid sperm fuses with a haploid ovum to 

produce a diploid zygote. Zygote receives equal 

amount of genetic material from each parent and 

thus, retains the diploid nature on fertilization.  

(½ mark) 

Or 

Ēेगर मɅडल ने  

(1 अकं) 

मटर के पौधɉ पर अपने अÚययन के माÚयम से ͪवरासत के 

मूल ͧसɮधांतɉ को उजागर ͩकया। 

(1 अकं) 

Gregor Mendel  

(1 mark) 



BSEH Marking Scheme Class: X March-2024 
 

18 
Science   Code: A 
 

uncovered the fundamentals of inheritance through 

his studies on pea plants.  

(1 mark) 

27. 1. Ĥकाश सæंलेषण मɅ O2 उ×पाद के Ǿप मɅ तथा CO2 æवसन 

ͩĐया मɅ रंĢɉ ɮवारा Ǔनçकाͧसत ͩकए जाते हɇ। 

2. पौधे अǓतǐरÈत जल स ेवाçपो×सज[न ͩĐया ɮवारा छुटकारा 

पा सकत ेहɇ। 

3. पौधɉ मɅ ǓनिçĐय पͪƣया ँसमय-समय पर अलग होती रहती 

है, िजनमɅ अपͧशçट उ×पाद संͬ चत रहत ेहɇ। 

4. पादपɉ मɅ अÛय अपͧशçट उ×पाद रेिजन तथा गɉद के Ǿप 

मɅ ͪवशेष Ǿप स ेपुराने जाइलम मɅ संͬचत रहत ेहɇ। 

5. पादप कुछ अपͧशçट पदाथɟ को अपन ेआसपास कȧ मदृा मɅ 

उ×सिज[त करत ेहɇ। 

6. बहुत से पादप अपͧशçट उ×पाद कोशकȧय ǐरिÈतका मɅ 

संͬ चत रहत ेहɇ। 

(कोई चार, Ĥ×येक का ½ अकं) 

1. O2 as a product in photosynthesis and CO2 in 

respiration are expelled through stomata.  

2. Plants can get rid of excess water by 

transpiration.  

3. In plants, dormant leaves are shed from time to 

time, in which waste products accumulate.  

4. In plants, other waste products are stored in the 

form of resins and gums, especially in the old 

xylem.  

2 
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5. Plants excrete some waste materials into the soil 

around them.  

6. Many plant waste products are stored in cell 

vacuoles. 

 

(Any four, ½ mark each) 

28. अͬधवक्ृक Ēंͬथ  

(1 अकं) 

(i) ǿदय कȧ धड़कन बढ़ जाती है।  

(ii) पाचन तंğ तथा ×वचा मɅ ǽͬधर कȧ आपूǓत [ कम हो जाती 

है।  

(iii) ǽͬधर कȧ Ǒदशा हमारȣ कंकाल पेͧ शयɉ कȧ ओर कर देता है। 

(iv) æ वसन दर बढ़ जाती है। 

 

(Ĥ×येक का ½ अकं) 

Adrenal Gland 

(1 mark) 

(i) the heart beats faster.  

(ii) The blood to the digestive system and skin is 

reduced.  

(iii) This diverts the blood to our skeletal muscles. 

(iv) The breathing rate increases.  

 

(½ mark each) 

 

3 
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29.  

 
(उͬचत आरेख- 1 अकं, कोई चार उͬचत नामाकंन; Ĥ×येक का 

½ अंक)  

 
(Proper diagram 1 mark) (Any four labelling ½ 

marks each) 

Or 

 

  (उͬचत आरेख- 1 अकं, 

कोई चार उͬचत नामाकंन; Ĥ×येक का ½ अंक)  

3 
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(Proper diagram 1 mark) (Any four labelling ½ 

marks each)  

30. (i) ͪवखंडन  

एककोͧशक जीवɉ मɅ कोͧशका ͪवभाजन अथवा ͪवखंडन ɮवारा 

नए जीवɉ कȧ उ×पͪƣ होती है। अनेक जीवाणु तथा Ĥोटोजोआ कȧ 

कोͧशका ͪवभाजन ɮवारा सामाÛयतः दो बराबर भागɉ मɅ ͪवभÈ त 

हो जाती है, जैस ेअमीबा। 

(ii) खंडन 

सरल संरचना वाले बहु कोͧशक जीवɉ मɅ जनन कȧ सरल ͪवͬध 

काय[ करती है। उदाहरणतः èपाइरोगाइरा सामाÛयतः ͪवकͧसत 

होकर छोटे-छोटे टुकड़ɉ मɅ खͫडतं हो जाता है। यह टुकड़ ेअथवा 

खडं वɮृͬध कर नए जीव (åयिç ट ) मɅ ͪवकͧसत हो जात ेहɇ। 

(iii) पुनǽɮभवन (पुनज[नन) 

पूण[Ǿपेण ͪवभǑेदत जीवɉ मɅ अपने काǓयक भाग से नए जीव के 

Ǔनमा[ण कȧ ¢मता होती है। अथा[त यǑद ͩकसी कारणवश जीव 

¢त-ͪव¢त हो जाता है अथवा कुछ टुकड़ɉ मɅ टूट जाता है तो 

इसके अनेक टुकड़ ेवɮृͬध कर नए जीव मɅ ͪवकͧसत हो जात ेहɇ। 

उदाहरणतः हाइĜा तथा Üलेनेǐरया 

5 
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(iv) मकुुलन  

हाइĜा जैसे कुछ Ĥाणी पनुज[नन कȧ ¢मता वालȣ कोͧशकाओ ंका 

उपयोग मुकुलन के ͧलए करत े हɇ। हाइĜा मɅ कोͧशकाओ ं के 

Ǔनयͧमत ͪवभाजन के कारण एक èथान पर उभार ͪवकͧसत हो 

जाता है। यह उभार (मुकुल) वɮृͬध करता हुआ नÛहे जीव मɅ 

बदल जाता है तथा पणू[ ͪवकͧसत होकर जनक से अलग होकर 

èवतंğ जीव बन जाता है। 

(v) काǓयक Ĥवध[न  

ऐसे बहुत से पौधे हɇ, िजनमɅ कुछ भाग जैसे जड़, तना तथा 

पͪƣयाँ उपयÈ त ु पǐरिèथǓतयɉ मɅ ͪवकͧसत होकर नया पौधा 

उ×पÛन करते हɇ। अͬधकतर जंतओु ंके ͪवपरȣत, एकल पौध ेइस 

¢मता का उपयोग जनन कȧ ͪवͬध के Ǿप मɅ करत ेहɇ। परतन, 

कलम अथवा रोपण जसैी काǓयक Ĥवध[न कȧ तकनीक का उपयोग 

कृͪष मɅ भी ͩकया जाता है। गÛना, गुलाब अथवा अगंूर इसके 

कुछ उदाहरण हɇ। 

(vi) बीजाण ुसमासघं  

अनेक सरल बहु कोͧशक जीवɉ मɅ भी ͪवͧशç ट जनन संरचनाएँ 

पाई जाती हɇ। जैसै राइजोपस के ऊÚव[ तंतुओं पर सêूम गुÍछ 

(गोल) संरचनाए ँजनन मɅ भाग लेती हɇ। ये गुÍछ बीजाणधुानी 

हɇ, िजनमɅ ͪवशेष कोͧशकाएँ अथवा बीजाणु पाए जात ेहɇ। यह 

बीजाणवुɮृͬध करके राइजोपस के नए जीव उ×पÛन करते हɇ। 

बीजाण ु के चारɉ ओर एक मोटȣ ͧभͪƣ होती है, जो ĤǓतकूल 

पǐरिèथǓतयɉ मɅ उसकȧ र¢ा करती है, नम सतह के संपक[  मɅ 

आने पर वह वɮृͬध करन ेलगते हɇ। 

(कोई पाँच, Ĥ×येक का 1 अकं) 
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(i) Fission  

For unicellular organisms, cell division, or fission, 

leads to the creation of new individuals. Many 

bacteria and protozoa simply split into two equal 

halves during cell division such as Amoeba.  

(ii) Fragmentation 

In multi-cellular organisms with relatively simple body 

organisation, simple reproductive methods can still 

work. Spirogyra, for example, simply breaks up into 

smaller pieces upon maturation. These pieces or 

fragments grow into new individuals. 

(iii) Regeneration  

Many fully differentiated organisms have the ability to 

give rise to new individual organisms from their body 

parts. That is, if the individual is somehow cut or 

broken up into many pieces, many of these pieces 

grow into separate individuals. For example, Hydra 

and Planaria. 

(iv) Budding  

Organisms such as Hydra use regenerative cells for 

reproduction in the process of budding. In Hydra, a 

bud develops as an outgrowth due to repeated cell 

division at one specific site. These buds develop into 

tiny individuals and when fully mature, detach from 
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the parent body and become new independent 

individuals. 

(v) Vegetative Propagation  

There are many plants in which parts like the root, 

stem and leaves develop into new plants under 

appropriate conditions. Unlike in most animals, plants 

can indeed use such a mode for reproduction. This 

property of vegetative propagation is used in methods 

such as layering or grafting to grow many plants like 

sugarcane, roses, or grapes for agricultural purposes. 

(vi) Spore Formation  

Even in many simple multi-cellular organisms, specific 

reproductive parts can be identified. As on the  

hyphae of Rhizopus, tiny blob-on-a-stick structures 

are involved in reproduction. The blobs are sporangia, 

which contain cells, or spores, that can eventually 

develop into new Rhizopus individuals. The spores 

are covered by thick walls that protect them until 

they come into contact with another moist surface 

and can begin to grow. 

(Any five, 1 mark each) 

Or 

गभ[Ǔनरोधन एक ͪवͬध को संदͧभ[त करता है िजसे गभा[वèथा को 

रोकने के ͧलए अपनाया जा सकता है। 

(1 अकं) 
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(i) याǒंğक अवरोध 

इस ͪवͬध मɅ युÊमक के संलयन को अवǽɮध ͩकया जाता है। 

उदाहरण के ͧलए, कंडोम स े ͧशæन को ढकना शĐुाणुओ ं को 

अंडकोͧशका तक पहंुचने स ेरोकता है।. इसका कोई ͪ वपरȣत Ĥभाव 

नहȣं है और यौन संचाǐरत रोगɉ के संचरण को रोकता है। 

(1 अकं) 

(ii) हामȾन असतंुलन  

हामȾनल असतुंलन पैदा करन े के ͧलए गोͧलयɉ का उपयोग 

गभ[Ǔनरोधक ͪवͬध के Ǿप मɅ काय[ कर सकता है। यह अंड के  

बनने को रोकता है और Ǔनषेचन नहȣ ं हो सकता है।. इसके 

दçुĤभाव होते हɇ। 

(1 अकं) 

(iii) गभा[शय यिुÈ त या ँ

युिÈ त या ँजैसे ͩक लूप अथवा कॉपर-टȣ (Copper-T) को गभा[शय 

मɅ èथाͪपत करके भी ͩकया जाता है, परंत ुगभा[शय के उƣेजन 

से भी कुछ ͪवपरȣत Ĥभाव हो सकते हɇ। 

(1 अकं) 

(iv) शãयͩĐया तकनीक 

यǑद पुǽष कȧ शĐुवाǑहकाओ ंको अवǽɮध कर Ǒदया जाए तो 

शĐुाणओु ं का èथानातंरण ǽक जाएगा। यǑद èğी कȧ अडवंाǑहनी 

अथवा फेलोͪपयन नͧलका को अवǽɮध कर Ǒदया जाए तो अंड 

(ͫडबं) गभा[शय तक नहȣं पहँुच सकेगा। दोनɉ हȣ अवèथाओं मɅ 

Ǔनषेचन नहȣ ंहो पाएगा। शãयͩĐया तकनीक ɮवारा इस Ĥकार 

के अवरोध उ×पÛन ͩकए जा सकते हɇ। यɮयͪप शãय तकनीक 

भͪवçय के ͧलए पणू[तः सरुͯ¢त है, परंत ुअसावधानीपूव[क कȧ 
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गई शãयͩĐया स ेसĐंमण अथवा दसूरȣ समèयाएँ उ×पÛन हो 

सकती हɇ। 

(1 अकं) 

Contraception is a method or device used to prevent 

pregnancy. 

(1 mark) 

(i) Mechanical barrier 

In this method fusion of gamete is blocked. For 

example, covering the penis with condom prevents 

sperms to reach ovum. It has no side effects and 

prevents transmission of sexually transmitted 

diseases. 

(1 Mark) 

(ii) Hormonal Imbalance  

Use of pills to create hormonal imbalance can act as 

contraceptive method. It prevents formation of egg 

and fertilisation cannot occur. It has side effects. 

(1 mark) 

(iii) Uterine devices 

Devices such as the loop or the copper-T are placed 

in the uterus to prevent pregnancy. Again, they can 

cause side effects due to irritation of the uterus. 

 (1 mark) 

(iv) Surgical method 
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If the vas deferens in the male is blocked, sperm 

transfer will be prevented. If the fallopian tube in 

the female is blocked, the egg will not be able to 

reach the uterus. In both cases fertilisation will not 

take place. Surgical methods can be used to create 

such blocks. While surgical methods are safe in the 

long run, surgery itself can cause infections and 

other problems if not performed properly. 

(1 mark) 

 

 

 

 

 


